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FACULTY OF COMMERCE
B.Com. (Third Year) (Sixth Semester) EXAMINATION
OCTOBER/NOVEMBER, 2018
MANAGEMENT ACCOUNTING-II

(Wednesday, 10-10-2018) Time : 10.00 a.m. to 12.00 noon

Time—Two Hours Maximum Marks—40
N.B. .— (1 Attempt all questions.
(11) Figures to the right indicate full marks.

(i1  Use of simple non-programmable calculator is allowed.
(1) §d YT gEdn

(i) SSeherd H&d qui Ul SRiferdra.

() WE AA-YTHE hAReiel AT AT 3T

1. Calculate the trend percentages from the following figures of ‘Abhijeet’ Ltd.

taking 2015 as the base : 10
Year Sales Stock Profit
) ) )
2015 18,810 7,090 3,210
2016 23,400 7,810 4,350
2017 26,550 8,160 4,580
2018 30,210 9,440 5,270
2019 37,680 11,540 6,720
P.T.O.
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stfufsa fa. = @t foeiean feheareed 2015 ¥ STUR 96 fed &% el Hfaed
(Yt 3TUd) = MU A :

Ll faeht whe TR
®) ®) ®)
2015 18,810 7,090 3,210
2016 23,400 7,810 4,350
2017 26,550 8,160 4,580
2018 30,210 9,440 5,270
2019 37,680 11,540 6,720

The following is the Balance Sheet of Siddhivinayak Company Ltd. as on 31st
March, 2017.

Balance Sheet

Liabilities Amount  Assets Amount

) )
Paid-up capital 4,00,000 Goodwill 60,000
Reserve 1,00,000 Buildings 2,40,000
Profit and Loss Alc 25,500 Plant and Machinery 58,000
Bank Overdraft 22,500 Stock 1,32,000
Sundry Creditors 72,000 Debtors 1,70,000
Provision for taxation 40,000

Other information :

Sales for the year Rs. 16,80,000
Average stock in hand Rs. 1,26,000
Gross profit Rs. 4,20,000
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You are required to compute :

(a) Current ratio
(b) Liquid ratio

(o0  Proprietory ratio

(d) Stock Turnover ratio.

fagifomas &w . 9 31 =@, 2017 s Ferdifae]o géa yomr o1 .
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6,60,000
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TeFRH
®)
60,000
2,40,000
58,000
1,32,000
1,70,000

6,60,000
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feRar
Gauri Co. Ltd. furnishes you the following income statement. You are required
to prepare common-size Income Statement :

Income Statements
for the year ending 2016 and 2017

2016 2017
®) ®)
Gross Sales 7,25,000 8,15,000
Less : Sales returns 25,000 15,000
Net sales 7,00,000 8,00,000
Cost of sales 5,95,000 6,15,000
Gross profit 1,05,000 1,85,000
Operating expenses :
Selling and distribution expenses 23,000 24,000
Administrative expenses 12,700 12,500
Total expenses 35,700 36,500
Operating Income 69,300 1,48,500
Other incomes 1,200 8,050
70,500 1,56,550
Non-operating expenses 1,750 1,940
Net profit during the year 68,750 1,54,610

TR ot T, ¥ R @refial 3ca= foen 9rex el 3. Jelell 9= ST 3ca—
fa] TR HEa™ e

SO faeruT
2016 & 2017 AT FUOMET TR
2016 2017
®) ®)
& foasht 7,25,000 8,15,000
e : fost T 25,000 15,000

4422C3D67521DD32CE35C1D00AC6B7BC



freae famt

(5

EEANRIGIE IR IEC R

Hehed oY

TR=H 3

T 3T

AU e

el M6 TN

7,00,000
5,95,000

1,05,000

23,000
12,700

35,700

69,300
1,200

70,500

1,750

68,750
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8,00,000
6,15,000

1,85,000

24,000
12,500
36,500
1,48,500
8,050
1,56,550
1,940
1,54,610

‘Vijaya’ Ltd. is ready to purchase a new machine out of two types of machines

‘A’ and ‘B’ each costing Rs. 5,00,000. The earning after taxation are projected

as under :

Year

1
2
3
4

5

Cash Inflow

Machine ‘A’
3

1,50,000

2,00,000

2,50,000

1,50,000

1,00,000

10

Machine ‘B’

3
50,000
1,50,000
2,00,000
3,00,000
2,00,000

Using discount rate of 10 percent indicate which machine will be a more

profitable investment.
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The present volue of Re. 1 at 10% discount is as given below :

Year

1

2
3
4
5

Present value

0.909
0.826
0.751
0.683
0.621

fas=n fa. o 9&=h %. 5,00,000 frma smciedn dfeq ‘21’ foar ‘9’ =0 I=MUehT TH
RERRCICEC LR I GG S
HUGT A I oTufard sk @reflal g9 &,

@ AMaYATE
RERRC
3
1,50,000
2,00,000
2,50,000
1,50,000
1,00,000

o ‘q’
3
50,000
1,50,000
2,00,000
3,00,000
2,00,000

10 T9h SUA SRR I Y8 TEaal di H& SRV J5/T A0k S AR

10% 3T9ER AW ¥4 3 1 9 q09F God Ted gHl .
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AU qod
0.909
0.826
0.751
0.683
0.621
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Or
feRar
You are given the following figures to Sujata Ltd. for the year 2017 :
Items Budgeted Actual
3 3
Sales 2,00,000 2,40,000
Direct Materials 80,000 1,00,000
Direct Wages 28,000 20,000
Administrative Exp. 28,000 40,000
Finance Expenses 8,000 6,000
Selling Expenses 20,000 28,000
Total costs 1,64,000 1,94,000
Profit before tax 36,000 46,000
Tax 8,000 10,000
Net Profit After Tax 28,000 36,000

Prepare responsibility accounting report for the profit centre showing therein

variances from budget in absolute figures and also in percentage form.

ol fa. 3 9o 2017 A1 Wil Wifedt ©etd wHr el ST

LEd CHERECIR] PR
3 4

IEEQ 2,00,000 2,40,000
g At 80,000 1,00,000
YA AL 28,000 20,000
ERICE e 28,000 40,000
foxita == 8,000 6,000

P.T.O.
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fawt @ 20,000 28,000
R IR 1,64,000 1,94,000
HUYATAT TH] 36,000 46,000
EX 8,000 10,000
FAR e T 28,000 36,000

SRl Hifediae oY el SWEMIE Teehd T8 daR hEd & JRgul T&a=

9 gfayd Weuial faaa (Variances) 3.

From the following information prepare a statement of working capital

required : 10
Flements of cost :

Material 40%

Direct Labour 20%

Overheads 20%

The following further particulars are available :
(a) It is proposed to maintain a level of activity of 2,00,000 units.
(b)  Selling price is ¥ 12 per unit.

(o0 Raw materials are expected to remain in stores for an average period
of one month.

(d)  Materials will be in process, on averages half a month.

(60 Finished goods are required to be in stock for an average period of one
month.

(f Credit allowed to debtors is two months.
(g)  Credit allowed by suppliers is one month.

o ~_a ~ ¢ " . N
Wil Hlledldwd HANAA enldenlX] HrEde™d IR ol ¢

faawor
uRegare ueeh
T 40%
&l A 20%
arferery 20%

4422C3D67521DD32CE35C1D00AC6B7BC



WT ( 9) CV—376—2018
el AURE qUeiiel SYeTsy ST
(31) 2,00,000 T ICRAT Udedl Freerda a0 TEavash 1.
(@) fomt feua & 12 wfa =
(%) WSRA TUE Teh HiEUIr=a1 g sheadl U=l 91a1 3901 3Tafard TR,
(T) ARl TS Al (V%) AfGUAEE! WhaHed 9.
(3) YU TR Foied o WU T AUl RIAEHEE! TE0 SfevEs .
() TEHMA S AfeUar=l SHRE HiaeE] A= H0a e 3.
(7) YREAGKENA Uk Higwaren U=l wicidel W shal oTR.
Or

Write short notes on :

1. Advantages of Ratio Analysis
2. Working capital forecasting.
drera feqr ferer .

1. U et W

o o hd N
2. PN HISddA™  STTHTA.
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